## Roadking Truck Repair Ltd.

#105, 28 Strathmoor drive
Sherwood Park AB T8H 2B6
+17808671780
admin@roadkingrepair.com
https://roadkingtruckrepair.ca/
Business Number: 717302400RT0001

T347

# **INVOICE**

BILL TO	
ALLNITE	TRUCKING LTD.

INVOIGE 7013

DATE 11/10/2025

TERMS Due on receipt

DUE DATE 11/10/2025

UNIT/MODEL KENWORTH UNIT 700		ODOMETER/DRIVER/PO 214829		VINTPLATE 1XKDDB0X03R969316		
DATE	ITEM	DESCRIPTION	QTY	RATE	AMOUNT	
02/10/2025	CVIP Truck	CVIP Truck	1	250.00	250.00	
	Wheel Remove	Wheel remove for CVIP	3	65.00	195.00	
	Reg Labour (Per Hour)	PTO leaking , clamps tightened - no charges	0	100.00	0.00	
	Reg Labour (Per Hour)	Transmission output shaft u-joint loose ,, strap bolt missing bolt missing , installed new with threadlocker	0.50	100.00	50.00	
	Parts Non-inventory	Bolt with sealer	1	5.89	5.89	
	Reg Labour (Per Hour)	Axle #2 input shaft u-joint loose , 2 bolts missing , installed new with threadsealer	0.50	100.00	50.00	
	Parts Non-inventory	Bolt with sealer	2	5.89	11.78	
	Reg Labour (Per Hour)	Axle #2 & #3 both side shock leaking, installed new	2	100.00	200.00	
	Parts Non-inventory	Shock	4	124.35	497.40	
	Reg Labour (Per Hour)	Axle #2 RHS torque rod bush worn ,changed bushing	1.50	100.00	150.00	
	Parts Non-inventory	Bushing	2	68.89	137.78	
	Reg Labour (Per Hour)	Rear 3 middle utility white light not working	0.50	100.00	50.00	
	Parts Non-inventory	4 " round white LED light	1	17.84	17.84	
	PIG TAIL	Pig tail 3 wire	1	5.40	5.40	

	•			
2 WRE	2 Wire cable (per foot)	3	3.99	11.97
Reg Labour (Per Hour)	Rear LHS brake/marker/signal not working , repaired	0.50	100.00	50.00
PIG TAIL	Pig tail 3 wire	1	5.40	5.40
Reg Labour (Per Hour)	Front RHS turn signal not working (red), repaired	0.50	100.00	50.00
Reg Labour (Per Hour)	AC hose rubbing on air to air pipes on LHS , put rubber hose around	0.50	100.00	50.00
Parts Non-inventory	Rubber hose	1	0.00	0.00
Reg Labour (Per Hour)	Front Axle #1 LHS shock leaking , installed new shocks	1	100.00	100.00
Parts Non-inventory	Shock	1	124.35	124.35
Reg Labour (Per Hour)	Both windshield wipers worn out , replaced	1	100.00	100.00
Parts Non-inventory	windshield wipers	2	11.89	23.78
Reg Labour (Per Hour)	Mud flap reflectors missing	1	100.00	100.00
Reflector strip	Per piece	1	27.99	27.99
Reg Labour (Per Hour)	Rear RHS under cab light not working , replaced light & plug	1	100.00	100.00
LED2000-10AP	2 LED RND MARKER LAMP AMB	1	8.65	8.65
PIG TAIL	PIGTAIL 2WRE	1	3.29	3.29
Delivery charges	Parts delivery charges	2	35.00	70.00
Reg Labour (Per Hour)	Axle #2 sway bar removed , replaced both bush & reinstalled	5	100.00	500.00
Parts Non-inventory	Bush - TRB68250	2	68.89	137.78
Parts Non-inventory	Kit - swab bar bushing 46K tandem	1	264.10	264.10
Shop Supplies	Shop Supplies: Thread sealer, rags, small ( nut bolts, washers), connectors, part cleaner, zip ties (small), etc	3,473.94	0.05	173.70
	11TP20363			

 Dear classicals
 SUBTOTAL
 3,522.10

 Instructive B lace compand an ancomposable framework and places meditines discovered and assumaging and approximately recommendate the stell as assumaging and approximately recommendate the stell assumaging and approximately recommendate the stellar assumaging assu

BALANCE DUE \$3,698.21

1458203 Alberta Ltd.

o/a West Edmonton Radiator (2009)

21110-108 Avenue

Edmonton, Alberta T5S 1X4

Toll Free:1-877-304-8844 Tel: (780) 455-8844

Fax: (780) 455-8841

INVOICE

Invoice No.:

37181

Date:

Nov 18, 2024

Ship Date:

Re: P.O. # :

Sold to:

Cash Sale Cash Ship to:

All Nite Trucking

1347

#### GST #:805076221

Quantity Description	Unit Price	Amount
1 Kenworth radiator recored and pressure tested at 20 psi.Replace cap.Paint.  1 PC9075 rad core 1 set gaskets 1 set nuts,bolts and washers 1 10294 truck rad cap 3 hours labour 1 shop supplies 1 year warranty on recored radiator	1,539.00 60.00 56.00 19.95 130.00 39.00	1,539.00 60.00 56.00 19.95 390.00 39.00
G - GST 5% GST		105.20
PANO YOU!		
	ford DO	
1458203 Alberta Ltd. GST: #805076221RT0001		
Terms: Net 30. Due Dec 18, 2024.  Comment: Thank You For Your Business!  Sold By: Morphew, Randy	Total/Amount	2,209.15

Invoice 4684

Roadking Truck Repair Ltd.
7331 34 ST NW
Edmonton AB T6B 2P7
+17806671790
admin@roadkingrepair.com
https://roadkingtruckrepair.ca/
Business Number:
717302400RT0001

ALLNITE TRUCKING LTD.		DATE 23/09/2024	150400000000000000000000000000000000000	6E PAY <b>74.21</b>	DUE DATE 23/09/2024
UNIT/MODEL T347		ODOMETER/DRIVER/PO 216283	VIN/PL 1XKDDE	ATE 30X03R96931	16, A33338
DATE	ITEM	DESCRIPTION	QTY	RATE	AMOUNT
14/09/2024	CVIP Truck	CVIP Truck	1	250.00	250.00
	Wheel Remove	Wheel remove for CVIP	3	65.00	195.00
	Parts Non- inventory	Both windshield replaced	2	150.00	300.00
	Reg Labour (Per Hour)	Axle#3 RHS wheel seal - Replaced	2.50	95.00	237.50
	SW47691 (deleted)	SEAL WHEEL R DRIVE AXLE	1	55.16	55.16
	Axle Gasket 3111	Axle Gasket 8 Hole	1	6.18	6.18
	75W90 Liter , Synthetic Gear Oil	75W90 Liter , Synthetic Gear Oil	1	17.40	17.40
	Enviro Charge	Oil Enviro Charge (per litre)	1	0.06	0.06
	KFL313	Part cleaner	1	9.10	9.10
	Reg Labour (Per Hour)	Axle#3 both side brake & drum - Replaced	1	95.00	95.00
	4709 Brake Shoe E22	Brake Shoe, Eaton (Per Set)	2	99.63	199.26
	BRAKE DRUM 3600 (deleted)	Brake Drum, 16.5x7 (Each)	2	114.00	228.00
	Reg Labour (Per Hour)	LHS high beam broken- Replaced     Fixed the power wire	0.50	95.00	47.50
	Parts Non- inventory	High beam H-4651	1	22.85	22.85
	Reg Labour (Per Hour)	Axle#2 output shaft, yoke nut, u-joint seal - Replaced	2.50	95.00	237.50

				, ,	•
DATE ·	ITEM	DESCRIPTION	QTY	RATE	AMOUNT
	5675X U-Joint 024-002-038 1710	Half Round U-Joint (each)	1	103.79	103.79
	Parts Non- inventory	Yoke nut	1	42.63	42.63
	Parts Non- inventory	Seal diff	1	116.27	116.27
	Reg Labour (Per Hour)	Axle#2 and axle#3 both torque rod bushing replaced	3	95.00	285.00
	Reg Labour (Per Hour)	2 cross member bottom plates replaced	5	95.00	475.00
	TRB68250	K/W TORQ ROD BUSH	8	62.50	500.00
	Parts Non- inventory	Bush press	8	20.00	160.00
	Parts Non- inventory	cross member	2	595.00	1,190.00
	Reg Labour (Per Hour)	Axle#2 RHS shock replaced	0.50	95.00	47.50
	HS85310	Hydraulic shock	1	89.50	89.50
	Reg Labour (Per Hour)	Axle#3 LHS air bag - Replaced	1	95.00	95.00
	AS96750	AS96750 Air bag	1	220.10	220.10
	Reg Labour (Per Hour)	Axle#1 both shock replaced	1	95.00	95.00
	Parts Non- inventory	Q24083 shock	2	120.50	241.00
	Reg Labour (Per Hour)	RHS fuel tank leakage - Fixed	2	95.00	190.00
	Parts Non- inventory	JB weld aluminum	1	22.95	22.95
	Tire	Axle#3 RHS both tires replaced	2	30.00	60.00
	Parts Non- inventory	Used tire	2	150.00	300.00
	Reg Labour (Per Hour)	Exhaust T welded	0.50	95.00	47.50
	Reg Labour (Per Hour)	Roof, side & rear LHS aux marker light - Fixed	1.50	95.00	142.50
	STPL2010A	LED 2" Rd Marker Lamp Amber - 10-dio	4	7.56	30.24
	PIG TAIL	PIGTAIL 2WIRE	1	3.29	3.29
	4 red led marker	red led marker	1	29.50	29.50
	Reg Labour (Per Hour)	Load upper side power fixed     Lower both side load light replaced	2	95.00	190.00
	Parts Non- inventory	Load light	2	21.44	42.88

NOTE: NOT RESPONSIBLE FOR LOOSE WHEELS & BROKEN STUDS or NUTS. WHEELS SHOULD BE TIGHTENED AFTER 80-100 KMS. No warranty on electricals, after market parts & original parts warranty will be covered only by by manufactured company CLAIMS AND RETURNED GOODS must be accompanied by the original invoice.

MasterCard, Visa, E-Transfers and Cheques Accepted

DATE	ITEM	DESCRIPTION	QTY	RATE	AMOUNT
	Reg Labour (Per Hour)	Bacon light fixed & in switch in side dash	stalled 1.50	95.00	142.50
	Parts Non- inventory	Togel switch	1	16.63	16.63
	Shop Supplies	Shop Supplies 5%	6,779.34	0.05	338.97
Dear Custo	omer,		SUBTOTAL		7,118.26
Interest wil	l be charged at a compo	ounded rate of	GST @ 5%		355.95
26.82% pe	r annum [2% per month	] on all overdue	TOTAL		7,474.21
amounts. F	Please e-transfer the bill	at:			
	adkingrepair.com		TOTAL DUE		\$7,474.21
We apprec	iate your business and	look forward to	**************************************		<b>.</b>
seeing you	again soon.				THANK YOU.
Regards					

Regards Bill Natt

780-667-1790

Ethos Mechanical Inc.

Site 645 Comp 18 RR 2

Lac La Biche, AB T0A 2C2, CA ethosmechanical@yahoo.ca (780) 798-2691

Invoice:

15718

Date:

3/18/2024

Bill To

ALLNITE TRUCKING LTD

Remit Payment To

Site 645 Comp 18 RR 2 Site 645 Comp 18 RR 2

Lac La Biche, AB T0A 2C2, CA

	ce Order 5546	Terms COD	Due Date 3/18/2024	Authorizer JIM	Custome	er PO	Unit # T347
ltem	Description	1			Quantity	Rate	Amount
Complain	t: REPLACE FF	RONT DIFF AS PEI	R CUSTOMER REQ	UEST			
Cause: C	ustomer reques	st					
Labor	service area divider not e Jacked unit Removed le Removed di Drained and Inspected di Pinion asser Cleaned and Cleaned and Inspected re Installed differential fi Installed axi	inal Drives / Front I a. Verified complain ingaged. and placed on stan ft and right axle sha rive line to #1 diff (in I removed differential fferential for failure mbly failed. d inspected diff hou d inspected all reus eman diff for accurate erential (extra time t off) e shafts and drive in	ds.  aft.  aput yoke worn will nal.  sing  able components  cy  due to limited access	nit from wash bay into le to move when power  ot hold u joint cups in place)  s from suspension and intial	13.00000	\$145.00	\$1,885.00
			nufacture specs - Co	ompleted: 3/15/2024		•	
Parts		DIFF 4.56 RATIO			1.00000	\$3,800.00	\$3,800.00
Parts		AS SYN GEAR OII			1.00000	\$204.5125	\$204.51
Parts		FLO GASKET MA	KER BLACK		1.00000	\$7.91645	\$7.92
Parts	AXLE GASK				2.00000	\$3.78424	\$7.57
Parts		10 FULL ROUND S	PICER			\$165.79607	\$165.80
Parts	DIFF BREA	THER & TUBE KIT			1.00000	\$14.80348	\$14.80
Parts	INPUT YOK	E			1.00000	\$504.6875	\$504.69

ltem	Description	Quantity	Rate	Amount
Parts	AXLE CONE DOWELS	3.00000	\$2.68232	\$8.05
Parts	5/8" AXLE STUDS	8.00000	\$8.6704	\$69.36
Parts	FILTER-OIL	1.00000	\$11.48321	\$11.48
Parts	DIFF LOCK SWITCH W/ PIGTAIL	1.00000	\$82.74579	\$82.75
Parts	GUSSETT, RH LOWER	1.00000	\$1,136.0125	\$1,136.01
			Subtotal	\$7,897.94
Unit: T347 (	TANDEM WINCH TRACTOR) VIN: 1XKDDB0X03R969316		Labor	\$1,885.00
	te: (AB) A33338		Parts	\$6,012.94
2003 Kenwo		Si	op Supplies	\$188.50
Chassis: 21 Engine: 39,	9,900 Kilometers 550 Hours	Pre-Cha	rge Subtotal	\$8,086.44
		(5%	GST of \$8,086.44)	\$404.32
			Total	\$8,490.76
		Paymei	nts & Credits	\$0.00
			Balance Due	\$8,490.76

Any warranties on the parts and accessories sold hereby are made by the manufacturer. You understand and agree that we make no warranties of any kind unless expressed in writing. You hereby authorize us to perform the repair work herein set forth and to purchase the necessary material and parts to perform such repair work. You agree that we are not responsible for loss or damage to your vehicle or articles left in your vehicle in case of fire, theft, or any other cause beyond our control or for any delays caused by unavailability of parts or delays in part shipments by the supplier or transporter. In addition, you agree that we are not responsible for damages to your vehicle from freezing due to lack of antifreeze. You hereby grant our employees permission to operate your vehicle on streets, highways, or elsewhere for the purpose of testing and/or inspection. You acknowledge and agree that an express mechanic's lien on your vehicle is granted to secure payment of this invoice for the repair work detailed in this invoice.

GST 828137562RT0001

Customer Signature:	
Printed Name:	Date:

Invoice 2766

Roadking Truck Repair Ltd.
7331 34 ST NW
Edmonton AB T6B 2P7
+1 7806671790
admin@roadkingrepair.com
https://roadkingtruckrepair.ca/
Business Number:
717302400RT0001

BILL TO ALLNITE TRU LTD.	JCKING	DATE 19/01/2024	PLEAS <b>\$1,5</b> 6		DUE DATE 19/01/2024
UNIT/MODEL KENWORTH		ODOMETER/DRIVER/PO 217132 KM	VIN / PLA A33338	ATE	
DATE	ITEM	DESCRIPTION	QTY	RATE	AMOUNT
17/01/2024	CVIP Truck	CVIP Truck	1	250.00	250.00
	WHEEL REMOVAL	WHEEL REMOVAL	3	65.00	195.00
	Reg Labour (Per Hour)	Axle #2 LHS brake shoe replaced	1	105.00	105.00
	4709 Brake Shoe E22	Brake Shoe, Eaton (Per Set)	1	99.63	99.63
	Reg Labour (Per Hour)	Axle #2 RHS hub seal replaced	3	105.00	315.00
	4709 Brake Shoe E22	Brake Shoe, Eaton (Per Set)	1	99.63	99.63
	47691 WHEEL SEAL	47691 WHEEL SEAL	1	72.50	72.50
	Axle Gasket 3107	AXLE GASKET 8HOLE 7.00BC 3/4	1	7.00	7.00
	75W90 Liter , Synthetic Gear Oil	75W90 Liter , Synthetic Gear Oil	1	17.40	17.40
	Enviro Charge	Oil Enviro Charge (per litre)	1	0.06	0.06
	Reg Labour (Per Hour)	LHS front signal light and marker light repaired	1	105.00	105.00
	Reg Labour (Per Hour)	Rear RHS & brake light & signal light repaired	1	105.00	105.00
	Reg Labour (Per Hour)	Trailer code ground fixed	0.50	105.00	52.50

NOTE: NOT RESPONSIBLE FOR LOOSE WHEELS & BROKEN STUDS or NUTS. WHEELS SHOULD BE TIGHTENED AFTER 80-100 KMS.

No warranty on electricals, after market parts & original parts warranty will be covered only by by manufactured company

CLAIMS AND RETURNED GOODS must be accompanied by the original invoice.

DATE	ITEM	DESCRIPTION	QTY	RATE	AMOUNT
• •	Shop Supplies	Shop Supplies 5%	1,423.77	0.05	71.19
Dear Cust	omer,		SUBTOTAL		1,494.91
			GST @ 5%		74.74
	ll be charged at a comp er annum [2% per mont		TOTAL		1,569.65
amounts.	- '		TOTAL DUE	\$	1,569.65

You can also E-TRANSFER the amount at : admin@roadkingrepair.com

THANK YOU.

We appreciate your business and look forward to seeing you again soon.

Thank You Mr. Bill Natt 780-667-1790

NOTE: NOT RESPONSIBLE FOR LOOSE WHEELS & BROKEN STUDS or NUTS. WHEELS SHOULD BE TIGHTENED AFTER 80-100 KMS.

No warranty on electricals, after market parts & original parts warranty will be covered only by manufactured company

CLAIMS AND RETURNED GOODS must be accompanied by the original invoice.



Sunset Diesel Service Ltd 10781-184 Street Edmonton, AB T5S 2T2 (780) 455-1171

#### INVOICE

INVOICE

29155

DATE:

2023-03-01

Page 1 of 2

PO#:

Allnite Trucking

 Unit No.
 700

 Make / Year
 Kenworth
 2003

 Serial No.
 1XKDDB0X03R969316

 Mileage
 172,501

 License No.
 09N775

 Eng. Serial No.
 6NZ86884

Description Part Number Ordered Shipped List Price Total Tax

Hookup computer and check codes. Check engine for low power. Customer is getting only 18 to 20 PSI.

Found no codes. Test drive unit. Only getting 19 PSI of boost. Wash engine. Found cooling system is pressurizing. Run engine diagnose problem to confirm. Engine has multiple oil leaks. Engine oil cooler, filter base and oil pan. Diagnose low boost problem. Check turbo and turbo wastegate. All good. Check fuel pressure. Pressure is good. Remove and check fuel check valve. Check all sensor readings. Test charge air cooling system. Found no leaks. Talk to customer. Remove cylinder head. Found head gasket is starting to blow out on number 5 cylinder. Also found number 3 piston is damaged. Replace number 3 piston and rings. Check bearings. Main and rod bearing are OEM Cat and newer. Clean and check cylinder head. Head seems to be newer and we found no cracks. Clean cylinder head. Replace injector sleeve orings. Deck block is rough. Repair block with plastic steel. Sunset Diessel cannot provide warranty on head gasket and block repairs for this engine. Remove oil cooler and filter base. Replace oil cooler. Install oil cooler and filter base. Assemble engine. Clean and test all 6 injectors. Found all 6 injectors are running low on delivery. Five of the injectors are aftermarket. Replace all 6 injectors. Replace all fuel and water filters. Replace air filters. Run engine. Reset all valves and injectors. Road test unit.

Combus Leak Test Fluid 4	3822986	2.00	2.00	18.18	18.18	36.36	G
New Oil Cooler	0R9056N	1.00	1.00	1,526.40	1,526.40	1,526.40	G
Gasket Kit - Oil Cooler	1153657N	1.00	1.00	175.98	175.98	175.98	G
Seal Oring	0617540	2.00	2.00	16.20	16.20	32.40	G
Oring Seal F/B C15	2385084	2.00	2.00	14.22	14.22	28.44	G
O/C Gasket	4N0641	1.00	1.00	3.65	3.65	3.65	G
Plastic Steel	JBW8265S	2.00	2.00	23.44	23.44	46.88	G
Lubriplate No. 105	21421	1.00	1.00	15.26	15.26	15.26	G
Seal - Inj. Sleeve	1662904	12.00	12.00	20.59	20.59	247.08	G
Seal	9X7430	6.00	6.00	8.06	8.06	48.36	G
Head Gasket Kit C15/6NZ	C15003	1.00	1.00	1,265.74	1,265.74	1,265.74	G
Spacer Plate C15	6I4421N	1.00	1.00	710.93	710.93	710.93	G
Head Bolt C15 7.5	1241855N	16.00	16.00	18.89	18.89	302.24	G
Head Bolt 3406E 8.5	7N1961N	10.00	10.00	21.08	21.08	210.80	G
Exhaust Sleeve/Gskt.	2818261N	6.00	6.00	43.31	43.31	259.86	G
Bolt - Turbo	2N2765	4.00	4.00	17.24	17.24	68.96	G
Nut	2N2766N	4.00	4.00	6.96	6.96	27.84	G
Seal Thermostat	3S9643	2.00	2.00	28.92	28.92	57.84	G
Thermostat	2477133N	2.00	2.00	68.87	68.87	137.74	G
Used Spacer Housing C15	4193614U	1.00	1.00	950.00	950.00	950.00	G
Heli Coil 5/16-18	H208-105	5.00	5.00	5.85	5.85	29.25	G
Crown	1807352	1.00	1.00	692.50	692.50	692.50	G
Piston Skirt 3406E	1326663	1.00	1.00	214.45	214.45	214.45	G
C15 Piston Ring [Top]	1777496	1.00	1.00	117.67	117.67	117.67	G
Ring Middle C15	1765749	1.00	1.00	117.67	117.67	117.67	G
Ring Oil Control C15	1899771	1.00	1.00	117.67	117.67	117.67	G
Retainer	7E1177	2.00	2.00	12.71	12.71	25.42	G
Bushing C15	1304698	1.00	1.00	102.52	102.52	102.52	G



Sunset Diesel Service Ltd 10781-184 Street Edmonton, AB T5S 2T2 (780) 455-1171

### INVOICE

INVOICE

29155

DATE:

2023-03-01

Page 2 of 2

PO#:

Allnite Trucking

Unit No.	700	
Make / Year	Kenworth	2003
Serial No.	1XKDDB0X03R969316	
Mileage	172,501	
License No.	09N775	
Eng. Serial No.	6NZ86884	

Description	Part Number	Ordered	Shipped	List	Price	Total	
Bolt Peanut C15	2971813	5.00	5.00	10.99	10.99	54.95	G
Water Hose	1280331	1.00	1.00	15.73	15.73	15.73	G
Clean & Calibrate C15 Inj	10R8501-CC	6.00	6.00	100.00	100.00	600.00	G
Ex Reman Inj C15	10R8501N	6.00	6.00	749.00	749.00	4,494.00	G
Core Charge	10R8501N^	6.00	6.00	400.00	400.00	2,400.00	G
Core Charge	10R8501N <sup>^</sup>	-6.00	-6.00	400.00	400.00	-2,400.00	G
Oil Seal Pan	1090078	1.00	1.00	19.19	19.19	19.19	G
Oil Seal Pan	1090072	1.00	1.00	17.48	17.48	17.48	G
Gasket - Oil Pan C15	1685248N	1.00	1.00	295.78	295.78	295.78	G
Long Life Lube Filter	LF9691A	1.00	1.00	43.85	43.85	43.85	G
Engine Oil 15/40 Bul	CAS15/40	43.00	43.00	7.33	7.33	315.19	G
Enviromental Dispoal Fee	ENV DISP FEE	43.00	43.00	0.15	0.15	6.45	G
Seal	6V6609	1.00	1.00	3.90	3.90	3.90	G
Oring	6V5266	1.00	1.00	19.84	19.84	19.84	G
3/8 Hose 3/8NPT	125-6C	1.00	1.00	9.77	9.77	9.77	G
Ball Valve	D2208-2448	1.00	1.00	37.10	37.10	37.10	G
Gasket	4N0699	1.00	1.00	3.40	3.40	3.40	G
Wing Drain Cock 1/2 NPT	40CD	1.00	1.00	23.86	23.86	23.86	G
3/4 X 3/8 Hex Bushing Brass	110-EC	1.00	1.00	8.16	8.16	8.16	G
Hose Clamp ST	PHAS-06	1.00	1.00	4.13	4.13	4.13	G
Hose Clamp ST	12404	1.00	1.00	2.20	2.20	2.20	G
Rad Hose 1-1/2	5515-150	1.00	1.00	29.46	29.46	29.46	G
Rad Hose 2-1/2	5515-250	1.00	1.00	58.78	58.78	58.78	G
Rad Hose 3"	5515-300	1.00	1.00	62.69	62.69	62.69	G
Hose Clamp	705-1508	3.00	3.00	13.54	13.54	40.62	G
Water Filter	WF2071	1.00	1.00	14.07	14.07	14.07	G
Fuel Filter	FF5319	1.00	1.00	24.89	24.89	24.89	G
Fuel Filter	FS1000	1.00	1.00	33.04	33.04	33.04	G
Ext Life Coolant (L) 50/50	ANTI-3000PM	46.00	46.00	2.79	2.79	128.34	G
V Belt	17620DYC	2.00	2.00	38.35	38.35	76.70	G
V Belt	22560DYC	2.00	2.00	32.65	32.65	65.30	G
Connector	3068479	1.00	1.00	16.32	16.32	16.32	G
Retainer	3068505	1.00	1.00	5.35	5.35	5.35	G
Temp Sensor	2644297	1.00	1.00	129.28	129.28	129.28	G
Labour Shop	SD100	62.50	62.50	166.00	166.00	10,375.00	G
Supplies / Enviro	SHOP SUPP	1.00	1.00	1,096.40	1,096.40	1,096.40	G

GST Number R109195685

Tywe hereby acknowledge the indebtedness of this invoice. If the balance due is not paid within—
Sunset Diesel's credit terms, I agree to pay interest at the rate of 3% per month. Any parts returned that were supplied as ordered maybe subject to a 25% restocking charge. In-house credit only on parts returned in 31-60 days. Any Reman part that is returned for possible warranty and is found not to be covered or is denied warranty will be subject to rebuilding charges to bring part back to saleable condition.

Account Terms - Net 30 Days.

Storage charges \$75 per day

Storage charges \$75 per day.

Cores must be returned within 90 days.

One Hour minimum charge on all invoices.

Please refer to full warranty policy at: https://www.sunsetdiesel.ca/SDWP.pdf

DATE		
SIGNATURE		

Sub Total	\$25,701.13
GST 5%	\$1,285.06
Total	\$26,986.19
Paid	\$0.00
Balance	\$26,986.19